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remark
.

Blokhuis established the
upper

bound m(n)-(v>2)for theorem 11 best known
upper

bound min) (2)

Let a
,

as be two rectors in A
,

then by showing that f. (5)
, fu(x) ...... fi(E) ,

X
,
X ...... Xn,

· case I : are linearly independent inS
,

where =x x ...... xn)-I
-

O

I I then a - au = y) = 5
O I

> m + (n+ 1) = dem ,
Sp(m+ 1)(m+ 4)

II II

a an

> m = (n+2)
&

OI
case 2

I O

O then a,
- ar = (1 + 1 + 1 + 1 = 2I

O ↓

II

"a,

in
page 23

,
we define polynomial Fi(x)=Hex-

substitute Vj = X
, if i = j : Fi(x)= -tr=A

if i j : Fi(x)=Wij-tr)= ) AiAj-l

note that AilAj < Ai otherwise AilAj = Ai < AiAj < AicAj < Ai < Aj contradiction the order in assumption

# AcAz ..... Am as is j

AilAj = la , zlpeL with Las Ai
,

hence filtj) = 0 with itj

(3)
in

page -3
, for example , let = (x, X ...... Xn)R generators of this

space are 1 , XiXi ...... Xip monomial VIzzi ....... ipS

* :=TX , VIC 1 , 2 . 3 ...... sy ,
then XI's are linearly independent over R

,
because

ifZIXI = 0
,

then NI = 0
,
VICISI

, for otherwise
.

Let IoISI be of smalles to

size such that NI
o

#0

-

setting Xi = 1
,
FicIo and Xj = 0

,VjIo and plugging it intoIXIXI = 0

we have XIo = 0
, a contradiction



when x = Wi ,
Xi . Xi = Hi

Hi = Aj

FXER
,

FreIN
,
X = Xi over field Fr

polynomial p
= [CX= x......

so ijeI > ejedo, is

=zasT

consider fi(x)= (fix-1)

from - = 10 , 13 " to Ep



Vandermonde determinant

--

Tehr <p(r) , x)

in general position

AjrBi = &

JB
: (aj)

AjrBi + &

y

= reBiAjr Bi

such that p(r) + Aj



moment curve



S" c Rr+

n = 2m + r

d = 2m - 2
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m > n + 2

( S

maybe Vj : SjeSs S
LHS

:
cono(,Si)

we say Mj
= -Xj RHS :

conv(Si)

Die ,Si

Vi

#

edge S Al



14

23

edge

arc
e

Vertex

m

H





-J + nI

in
page 31 , for case

nat a
s

# of nonzero entries in row i of Ad

2 . if izj ,
then Aik .

Ajk * 0

if and only if Aik = 1
, Ajk = 1 or Aik = -1 , Ajk =

if and only if Aik .

Ajk =

if and only if bj is an edge between Vi and Wj
Binet Cauchy theorem

since G is a simple graph ,
I at most one

edge between vertices Wi and Vj

so * + 0 if and only if E exactly one k with

1 <Kim such that Aik . Ajr = -

if and only if (x) = -1


